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Solve % =3y, ¥x)=? (10%)

x
Solve y"+y' —2y =0, p(0)=4, y'(0)=-5 (10%)
Solve y"+4y=x+2e

v Y X
Solve = —— (10%
V=3 2y (10%)

*, general solution y(x) = ?(10%)
1

Find the inverse transform of (a) i
s(s”+w

5 (5%)and (b) ——
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5 (5%)
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If L{fn)}=F(s), L{g(r)}=G(s), where L(-) denotes the Laplace transform, find the Laplace transform

of the integral [ f(z)g(t —7)dz . (10%)

Solve the following ODE with Laplace Transform (10%)
YV'+y'+9y =0, »(0)=0.16, y'(0)=0

Find the Fourier Series of the function (20%)

-k -2<t<0
f(f)={ O<t<2’ f+4)=f()

Find the Fourier Transform of the following functions (a) impulse function 5(r) (5%) (b) unit step

function u (1) (5%)




